
ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91ул. Школьная 91
Q= 0.0200 Гкал/ч

ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5ул. Южная 5
Q= 0.0185 Гкал/ч

ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3ул. Южная 3
Q= 0.0206 Гкал/ч

ул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1аул. Южная 1а
Q= 0.0241 Гкал/ч

ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1ул. Южная 1
Q= 0.0204 Гкал/ч

ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9ул. Весенняя 9
Q= 0.0209 Гкал/ч

ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12ул. Южная 12
Q= 0.0179 Гкал/ч

ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10ул. Южная 10
Q= 0.0180 Гкал/ч

ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2ул. Южная 2
Q= 0.0092 Гкал/ч

ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1ул. Весенняя 1
Q= 0.0227 Гкал/ч

ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7ул. Весенняя 7
Q= 0.0176 Гкал/ч

ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8ул. Южная 8
Q= 0.0089 Гкал/ч

ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5ул. Весенняя 5
Q= 0.0181 Гкал/ч

ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6ул. Южная 6
Q= 0.0092 Гкал/ч

ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3ул. Весенняя 3
Q= 0.0180 Гкал/ч

ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4ул. Южная 4
Q= 0.0092 Гкал/ч

ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1ул. ЦТП-1
Q= 0.2700 Гкал/ч

ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4ул. Мира 4
Q= 0.2006 Гкал/ч

ул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4аул. Мира 4а
Q= 0.2145 Гкал/ч

ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3ул. Мира 3
Q= 0.2008 Гкал/чул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1ул. Мира 1

Q= 0.2036 Гкал/ч

ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2ул. Солнечная 2
Q= 0.2751 Гкал/ч

ул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2аул. Солнечная 2а
Q= 0.1014 Гкал/ч

ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2ул. Мира 2
Q= 0.2036 Гкал/ч

ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6ул. Мира 6
Q= 0.2004 Гкал/ч

ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7ул. Мира 7
Q= 0.2285 Гкал/ч

ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5ул. Мира 5
Q= 0.2008 Гкал/ч

ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55ул. Гагарина 55
Q= 0.2084 Гкал/ч

ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11ул. Свердлова 11
Q= 0.0014 Гкал/ч

ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4ул. Терешковой 4
Q= 0.0253 Гкал/ч

ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2ул. Терешковой 2
Q= 0.0308 Гкал/ч

ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19ул. Свердлова 19
Q= 0.0104 Гкал/ч

ул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35аул. Гагарина 35а
Q= 0.0649 Гкал/ч

ул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8аул. Октябрьская 8а
Q= 0.4539 Гкал/ч

ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7ул. Свердлова 7
Q= 0.0356 Гкал/ч

ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5ул. Свердлова 5
Q= 0.0293 Гкал/ч

ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3ул. Свердлова 3
Q= 0.0247 Гкал/ч

ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1ул. Свердлова 1
Q= 0.0356 Гкал/ч

ул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33аул. Гагарина 33а
Q= 0.1249 Гкал/ч

ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1ул. Рабочая 1
Q= 0.2001 Гкал/ч

ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3ул. Рабочая 3
Q= 0.2001 Гкал/ч

ул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3аул. Рабочая 3а
Q= 0.0850 Гкал/ч

ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9ул. Рабочая 9
Q= 0.1114 Гкал/ч

ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59ул. Гагарина 59
Q= 0.0300 Гкал/ч

ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61ул. Гагарина 61
Q= 0.1669 Гкал/ч

ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41ул. Гагарина 41
Q= 0.0829 Гкал/ч

ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35ул. Гагарина 35
Q= 0.0812 Гкал/ч

ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37ул. Гагарина 37
Q= 0.0818 Гкал/ч

ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43ул. Гагарина 43
Q= 0.0833 Гкал/ч

ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39ул. Гагарина 39
Q= 0.0812 Гкал/ч

ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45ул. Гагарина 45
Q= 0.2036 Гкал/ч

ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57ул. Гагарина 57
Q= 0.2031 Гкал/ч

ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53ул. Гагарина 53
Q= 0.2074 Гкал/ч

ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49ул. Гагарина 49
Q= 0.2049 Гкал/ч

ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51ул. Гагарина 51
Q= 0.2054 Гкал/ч

ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47ул. Гагарина 47
Q= 0.2071 Гкал/ч

ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9ул. Солнечная 9
Q= 0.0166 Гкал/ч

ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10ул. Весенняя 10
Q= 0.0159 Гкал/ч

ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2ул. Весенняя 2
Q= 0.0160 Гкал/ч

ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1ул. Солнечная 1
Q= 0.0166 Гкал/ч

ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3ул. Солнечная 3
Q= 0.0170 Гкал/ч

ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4ул. Весенняя 4
Q= 0.0161 Гкал/ч

ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5ул. Солнечная 5
Q= 0.0166 Гкал/ч

ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6ул. Весенняя 6
Q= 0.0159 Гкал/ч

ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7ул. Солнечная 7
Q= 0.0159 Гкал/ч

ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8ул. Весенняя 8
Q= 0.0151 Гкал/ч

ул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45аул. Гагарина 45а
Q= 0.1500 Гкал/ч

ул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7аул. Свердлова 7а
Q= 0.0350 Гкал/ч

ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)ул. Свердлова 7а (баня)
Q= 0.0200 Гкал/ч

ул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7бул. Свердлова 7б
Q= 0.0350 Гкал/ч

L= 882.3 м

L= 882.3 м

L= 882.3 м
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